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Supplementary Fig. 4 Phenotype of control plant and transgenic plant. (a) Comparison of
the number of primary branches and secondary branches per main panicle between control
plant (CL3) and PAY1-overexpression transgenic plants (pOE6 and pOES8). Data are means
+ s.d. (n = 30). (b) Comparison of the number of primary branches and secondary
branches per main panicle between control (CL5) and RNAI transgenic plants (pPRNAI2
and pRNAI7). Data are means = s.d. (n = 30). The double asterisks represent a significant

difference determined by Student’s t-test at P < 0.01.
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